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. 2 [Option ID = 20098]
3 [Option ID = 20099]
. 4 [Option ID = 20100]



3)

HESRE \FTER. STENGFIYERS, EFENGESIETETHOSG, FENESRE, ASRE TERE,
TRE, AX. ERS ERSFENERAEFER,

EEANRE, SEamsRthETEL, NREEFE, $)\TEE. EFeTHEE, EREHNTTETRNERERES
PME, MNET, EHEFEREEEER, EAFEEERNT/\EHMINS, NEE AT U EE, SETERIRE
RN, mEs, MIBHSHERERESR, ESXTIREENET, b5, SEHERENTREeEITE, mAES. 26
. =%, FE—E3E, e, iESS, 85REeR.

FHRESNZ A, EFESZANAR, SE0ERE, IENEREORESITSSTRINEE, TENNETEE
EoOETSENSE, IEMOENSENENTERN, SENASHILEHARAEN, ENRERETSBIZE WF
TLEY. SENLEZARSIMNER—2EN,

FENE. FRIE BFTHRE, REETEaRTIR. BRER, S(IUREHNEEDEAPE,. AThETHEEI

BRE, £EENHITNSSER, WE. SNNE1SER. SRTEREZANER,

BT ESFEmS, Eﬁﬂkﬁﬂﬁﬁﬁﬁﬁﬁ T, UBRTUGHRIENS, BEFEUSNER, NENOBES
. PENIORNESETSAIASNE, XETUSLRERNAE, ERESELTNT

=<3 mﬁﬁgﬁﬁﬂlﬁﬂﬁﬁi‘(ﬁﬁmﬂ)S BLYFHTIESKASE, MIEE ZVWTSQE, mEENPEY

ABBELEL. BiESERPTERNeEE,

HEmS I OEEREREE?

1. 808
2. fEEe
3.0
4. =R

[Question ID = 5026][Question Description = 198_32_CHI_SEP22_S2_Q98]

A w N =

4)

1 [Option ID = 20101]
2 [Option ID = 20102]
3 [Option ID = 20103]

4 [Option ID = 20104]

HEARE \FTEE. STENGENRERS, EFENAESIETETHOSE. FENESRAL, AxRE. FERE,
FTHE. AX. BRS ERSFENEREAEFR,

MERNNIRE, SLRAMGRLETEL, NMEEEF, ) \TER. BESTHFE CREENTTETHRNSREREs
BEE. NuEE, EHERRECENK, $ATESRENTH/\SEMENE, TEE AT FRIKEE, SETERTe
eaRk, mxa, MIEESEERER, EXSEEENET, s, S2HERENTROEHTE, NAES. BN
. E=75, FE—E36, @, 2ESS, HS55NER.

PHPEERZ 4R, EFERRZANAR, SEENE,. IENENRORESTSSTHRTNEE, TENNETER
BoEirEiENSE, IFTTENESHENTEERLN, SENASHILEESRELER, ENRIERETFSENZ®. WF
TLIEH, PERNSEZARRIMEN 288,

FENE. SRiE, BRTRE. DASTESERZA. BRET, S(IERE8RIEEmEATE, AnlEHEsIte
BEE, SESEILRNESER, 8. SHORISER, SETEREEEINER,

BTESUSINER, TEAHNENNIESES. =, LURFRLUSHRIENS, REFERSNEE, RSSO nEs
SHERESFOSECNER, TENECENESETSANARNEY, RETZXREREAE, EASHLITINT
BE, WMES(EN (ERE2) . (ERREE) £, SEUTHTIESRSE, NIRE. T8I, MREIFEN
AREEGLAL. BNESERFTREANRETE

FEEELNT ASNMRESESSNT0

1. SR

2. FEE

LR AES)
4. pEEfeo 2

[Question ID = 5027][Question Description = 199_32_CHI_SEP22_S2_Q99]

1.

1 [Option ID = 20105]

2. 2 [Option ID = 20106]
3. 3 [Option ID = 20107]



4.

5)

4 [Option ID = 20108]

HESRE \FEE. STENGRERS, EFENAESIGTETHISE. FENESRN, ALRE. TERE,
THE. AE. ERS ERSFENERARFR,

MERINRE, FLANRLETEL WHESF, A\ TER. BEESTHFE CREHNTTETRNEREREs
HME, MNEE, EHNERRECEEM, fAFEEHENTH/\SHEMENE, NEE AT T INERE,. SETERRD
gank, mxa, MIECSEsEReEs, EXTSEENET. U5, SLUESTEDEITE, NES. Be
. Z=TE, TEEAE, e, 2ESS, E5REER

PHASRSZ LR, EFESNE NAR, SR0ENE, IENENETEESTSSERANEE, PEONETER
EOEFSEENSE, SFEORMEAENMERN, SENASONLGHAEASET, ENRIENETFSELZ. W
TLEY. FENSEEARRIMNEN—2LEE,

tENE. SRE, BETER BEESE22FEL. BREE, CMRAERNEETE ATE, ATNSEAHENSI1e
8RR, LEEERUATNESER, 8. SHNEISER. SEFEEEZANEE,

B7ESNSINEE, EECMNENTFEEET. I LURSRLUENREYS, REGENSNER, SSTOEEN
SHEEESROEHENER, TENSERNESETSLIA RIS, RETUSLRERNLE, ERNSSLTHT
B, MREBHEN CERER) . (HHRS) S, SRIURATIESRSE, NIRE. ZeUSUE, HaEibEy
ABEEDEL, BESERPTEEmeEE,

RRE) FEERANTELSNEESS, B,

1. BiEEe

L HEEREFEWEE NS
3. HEEEGE TR

L TERERETES

[Question ID = 5028][Question Description = 200_32_CHI_SEP22_S2_Q100]

1
2
3.
4

. 1 [Option ID = 20109]
. 2 [Option ID = 20110]

3 [Option ID = 20111]

. 4 [Option ID = 20112]

Topic:- 22 GP_29SEPT22_SH1_S2_A



1)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries: (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

Vi Types Of Batteries Sold (in thousands)
4AH TAH 32AH 35AH 55AH

2015 |75 144 114 102 108
2016 90 126 102 24 126
2017 (96 114 75 105 135
2018 |105 80 150 80 75
2012 90 75 135 75 an
2020 (105 60 165 45 120
2021 115 85 160 100 145

What was the approximate percentage increase in the sales of 35AH batteries in 2027 compared 1o that
in 20157

1.28 %
231 %
.33 %
4,34 %

fafeRaa aferer & a4 2015 & 2021 90 & SRIF TH DUAT gRT [A@1 Dt 78 [QAFHT TPR I qchal
(BYIR ®) & 3wt - eies fAw v &1 50 aiftreT & siws! & YR W) U= Uyl & Swv difere -

Sciigl @1 a8 - ar oWl
o T &1 713 Sl & UK (B9R 1)
4TUWH | 7UUH | 3280d | 35T | 550 TEH

2015 | 75 | 144 | 114 102 108
2016 | 90 | 126 | 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2010 | 90 75 135 75 90
2020 | 105 | &0 165 45 120
2021 | 115 | 85 160 100 145

2015 ®1 goiAT H 2021 9 55 U UG 92! B faml J e uiowd ais s i 2

3

1.28 9
2.31
3.33
4.34¢

33‘ Y

3

[Question ID = 4374][Question Description = 101_81_GP6_SEP22_S2_QO01]
1. 1 [Option ID = 17493]
2. 2 [Option ID = 17494]
3. 3 [Option ID = 17495]



4. 4 [Option ID = 17496]

2)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a

company during the years 2015 te 2021.

Year-wise Sale of Batteries

onr Types Of Batteries Scld (in thousands)
4AH TAH 32AH 354H 55AH

2015 (75 144 114 102 108
2016 |90 126 102 a4 126
2017 D6 114 75 105 135
2018 105 80 150 a0 75
2019 |90 73 135 i3 S0
2020 105 &0 165 45 120
2021 115 85 160 100 145

The total sales of all the seven years is maximum for which type of battery?

T.44AH
2. TAH
3. 32AH
4. 35AH

afeRaa arfeer § 99 2015 § 2021 9@ & SRIH T DUAT gRT G DI T8 [AIHA WPR DI el
@R ®) & 9! - sriws feu e &1 59 aifersT & siivs! & YR W Uik w4l & Iux S

=gl ot 9 - ar fEwl
- 91 | 715 920l & UPK (F9R 5)
AUTH | 700 3200|3500 | 5500
2015 75 144 114 102 108
2016 90 126 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 75 135 75 a0
2020 105 a0 165 45 120
2021 115 85 160 100 145

i O a1 | o0 UeR @1 S 91 oo faw] gana® U 7

1.490d
27009
3,329
4,358

[Question ID = 4375][Question Description = 102_81_GP6_SEP22_S2_Q02]
1. 1 [Option ID = 17497]
2. 2 [Option ID = 17498]



3. 3 [Option ID = 17499]
4. 4 [Option ID = 17500]

3)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures af five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

Goar Types Of Batteries Scld (in thousands)
4AH TAH 3ZAH 35AH 55AH

2015 |75 144 114 102 108
2016 (90 126 102 a4 126
2017 156 114 75 105 135
2018  |105 30 150 90 75
2012 190 75 135 75 a0
2020 |105 60 165 45 120
2021 115 85 180 100 145

What is the difference in the number of 35AH batteriesseld in 2016 and 20207

1..24000
2..28000
3. 35000
4.38000

FafeRas aferer & a9 2015 & 2021 90 & RIE TH DUAT gRT G0 D T8 [QIHT TPR T qchal
(@R ®) & 3t - aws fAw v &1 53 aiftreT & siws! & YR W U= Uyl & SR difere -

eyl @ 99 - ar 61 :
= fashl @1 713 S2l & JBR (F9R )
40U | 7UTH | 3200 | 35U UG | 55 UTH

2005 | 75 | 144 | 114 | 102 108
2016 | 90 | 126 | 102 84 126
2017 | 96 | 114 | 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 | 75 135 75 a0
2020 | 105 | 60 165 45 120
2021 | 115 | 85 160 | 100 145

¥ 2016 3R 2020 7 35 U TH A=feT @ fas g S W AR E

1. 24000
2..28000
3. 35000
4.39000

[Question ID = 4376][Question Description = 103_81_GP6_SEP22_S2_Q03]
1. 1 [Option ID = 17501]



2. 2 [Option ID = 17502]
3. 3 [Option ID = 17503]
4. 4 [Option ID = 17504]

4)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

Genr Types Of Batteries Sold (in thousands)
4AH TAH 3ZAH 35AH 55AH

2015 |75 144 114 102 108
2016 (B0 126 102 24 126
2017 196 114 75 105 135
2018 |105 30 150 90 75
2019 |90 73 135 75 a0
2020 |105 60 165 45 120
2021 115 85 180 100 145

The percentage of 4AH batteries sold in a given year to the total number of batteries sold in that same
year was maximum in the yearn

1.2017
2.2018
3.2019
42020

fFafefag arferer & ad 2015 | 2021 96 & R TP DUt g1 At @t 78 fAfud yer @t el
@9R ®) ¥ 9! - s fRu e &1 53 aiferer & sies! & MyR W = vyl & IO S

gzivyf @l 9 - ar 6 :

] &1 715 Scidl & UK (89K 1)
AUW (7YY | 320 Ud | 350U (550
2015 | 75 | 144 | 114 102 108

a

2016 a0 126 102 a4 126
2017 56 114 75 105 135
2018 105 20 150 a0 75
2019 g0 15 135 Ta a0
2020 105 &0 165 45 120

2021 115 85 160 100 145

ol few e ad & Qi @ 5! @) oo ve & oy 9dl ay a1 &1 711 4 T Tg sl @ uiowe e
ay 3 41 7

1.2017
2.2078
3.2818
42020



[Question ID = 4377][Question Description = 104_81_GP6_SEP22_S2_Q04]
1. 1 [Option ID = 17505]
2. 2 [Option ID = 17506]
3. 3 [Option ID = 17507]
4. 4 [Option ID = 17508]

5)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 te 2021.

Year-wise Sale of Batteries

onr Types Of Batteries Scld (in thousands)
4AH TAH 32AH 354H 55AH

2015 (75 144 114 102 108
2016 |90 126 102 a4 126
2017 D6 114 75 105 135
2018 105 80 150 a0 75
2019 |90 73 135 75 S0
2020 105 &0 165 45 120
2021  |115 85 160 100 145

In case of which type of battery there was a continuous decrease in sales from 2015 to 20207

1. 4AH
2. TAH
3.32AH
4. 358H



afeRaa arfeer § 99 2015 § 2021 9@ & SRIH T DUAT gRT G DI T8 [AIHA WPR DI el
@R ®) & 9! - sriws feu e &1 59 aifersT & siivs! & YR W Uik w4l & Iux S

=gl ot 9 - ar fEwl
- 991 ®1 5 92l & oK (goR )
AUTH | 700 3200|3500 | 5500
2015 75 144 114 102 108
2016 90 126 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 75 135 75 a0
2020 105 a0 165 45 120
2021 115 85 160 100 145

ad 2015 ¥ 2020 9@ 5 UHR B 9o @ {9t & ¥y fge gt 7

1.400
2700
3.320Tg
435009

[Question ID = 4378][Question Description = 105_81_GP6_SEP22_S2_QO05]
1. 1 [Option ID = 17509]
2. 2 [Option ID = 17510]
3. 3 [Option ID = 17511]
4. 4 [Option ID = 17512]

Topic:- 22 GP_29SEPT22_SH1_S2_B

1)

Which scheme of Ministry of Education, Government of India, uses Artificial Intelligence to make learming
more personalised and customised, as per requirements of the learners?

1. NEAT
2. NEET
3, SWAYAM
4, SWAYAN PRABHA

nen HETeE, YRd TR B BH U1 gioq Rl 31 arevgsas & ouRr YT 51 AU ufde
3R Tognlf srma o7 & O SHE giar @ Wi #d 8 7

1.EgLE

2EE4

3. TGH (SWAYAM )

4 IG4H UH] (SWAYAMPRABHA)

[Question ID = 4379][Question Description = 106_81_GP6_SEP22_S2_Q06]
1. 1 [Option ID = 17513]
2. 2 [Option ID = 17514]
3. 3 [Option ID = 17515]
4. 4 [Option ID = 17516]



2)
Upon completion of academic programmes (Graduation), what outcomes should the students have

attained?

1. Programme Education Objectives/ Programme oufcomes
2, Lesson outcomes

3. Course guicomes

4, Unit/Chapter outcomies

SPET® SHpH! (W) & I & W, faenfial w1 @ ufos ua g 91te 7

1. DD & 3630 / BIUHH TRoTH
2. 913 UiRoms

3. UTauwH 9RO

4, gy s Ui

[Question ID = 4380][Question Description = 107_81_GP6_SEP22_S2_Q07]
1. 1 [Option ID = 17517]
2. 2 [Option ID = 17518]
3. 3 [Option ID = 17519]
4. 4 [Option ID = 17520]

3)
Given below are two statements, one is labelled as Assertion A and the other is labelled 35 Reason R

Assertion A: Teachers must encourage students to ask questions.
Reason R: Asking guestions can create curiosity and develop passion far learning.
In light of the above statements, choose the most appropriate answer from the options-given below

1. Both A and R are carrect and R is the correct explanation of A

2, Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4 A is not correct but R iscorrect

Fas Ty GuIN g o o] AT (4) IR T $1 ORI (R) T A 8
HBUA (a) : e o1 ol o v U84 & o Uieiied &A1 9ife Ul

BRI (R) ; 1% TS © formma gfor il & iR AT & forg e o iad gl g
IUUT HYH! B D H Faiied [deedl H§ U HE SR 9 ;

1. (A) 3R (R) THI T8I € 3R (R), (A) P el ARHT 81

2. (A) 3R (R) GFT TE1 & TR (R), (A) T GBT 18T el
3. (A) WBl & IR (R) Wel Tei &

4. (A) W1 781 & TR (R) TRI B

[Question ID = 4381][Question Description = 108_81_GP6_SEP22_S2_Q08]
1. 1 [Option ID = 17521]
2. 2 [Option ID = 17522]
3. 3 [Option ID = 17523]
4. 4 [Option ID = 17524]



4)
Which of the following miodel is used for development of e-content for MOOCs on SWAYAM?

1. Four Quadrant
2. Two Quadrant
3, Flipped Classraom
4, Bloom's Taxonomy

TEUH (SWAYAM) OT 58 (MOOCs) & [0 S-1q9gasd & (9@ & 8 F¥ H d [od Hisa oI uai eldl 8 7

1. AR EgsE

PR

3, [T @an

4, TH ®I G fag

[Question ID = 4382][Question Description = 109_81_GP6_SEP22_S2_Q09]
1. 1 [Option ID = 17525]
2. 2 [Option ID = 17526]
3. 3 [Option ID = 17527]
4. 4 [Option ID = 17528]

5)
In erder to develop a video for MOOC, how much portion of some copyrighted video is allowed to be

used as'per the fair use guidelines?

. Upto 10% or 10 minutes, whichever is less,
. Upto 10% or 3 minutes, whichever is less,
. Upto 209 or 10 minutes, whichever is less,
. Upto 30% or 3 minutes, whichever is less,

Ju5 LD PO -

& (MOOC) & foe ®15 difsdl &9 & o, 3faa v feenfass & uR, B ufafoanfieia difsar
@ [tha (894 &1 WaR & @1 Al 8 ?

.10% T, 41 10 e, o T &9 811

L 10% °®, 91 3 e, @ W wa gl

. 20% T, T1 10 e Z o Bl
4,30% o@, 77 3 e, o S ea 8l

LD M -

[Question ID = 4383][Question Description = 110_81_GP6_SEP22_S2_Q10]
1. 1 [Option ID = 17529]
2. 2 [Option ID = 17530]
3. 3 [Option ID = 17531]
4. 4 [Option ID = 17532]

6)
When the subjects of a research change or improve their behaviour, not due to changes in experimental

stimulus, it is called

1. The Hawthorne effect
2, The Glenn effect

3. The Fischer effect

4, The Kerlinger effect



v el ity & faud! & ogaeR # giad 91 QUR TS 35191 § URadT & R T8 8l &, af 99
Fel Wl & -

1. 81YH wHE

2,75 UdE

3, fPER UyIE

4 PRGTR UHIG

[Question ID = 4384][Question Description = 111_81_GP6_SEP22_S2_Q11]
1. 1 [Option ID = 17533]
2. 2 [Option ID = 17534]
3. 3 [Option ID = 17535]
4. 4 [Option ID = 17536]

7)
The advantages of research based on field experiments are:

A, A strong external validity

B. Subiecis behave normally and naturally.

C. The experiment takes place in a natural setting.

D. Generation of primary data

E. Non-requirement of elaborate logistics

Choose the correct answer from the options given below;

1.4 Band Conly
2.B, Cand D only
3,C Dand Eonly
4 A CandEanly

& TERTl OR SR DY & A E -

A, T g §1al 9yl |

8. fawm W oiR warifa® 9 9 a98R i ¢
C. T UTgia® e | Bl 8l

D. UHiH® Hiws| @l go- |

E, forga HR-0F @1 Saxgedl T8l eidl|

i fou e fawed! & @ 8 oW A -

1.@aAA, B ARC
2, FaAE, C AR D
3, WIAC, D ARE
4, FAAA CARE

[Question ID = 4385][Question Description = 112_81_GP6_SEP22_S2_Q12]
1. 1 [Option ID = 17537]
2. 2 [Option ID = 17538]
3. 3 [Option ID = 17539]
4. 4 [Option ID = 17540]



8)
Hiypothesis, that is alternative to null hypothesis, is represented as

1. Hp
2.Hy
3. Ha
4. H

gitee, S X GREeal 6 faded o, @] X191 9l &
1
2
3. Han
4

[Question ID = 4386][Question Description = 113_81_GP6_SEP22_S2_Q13]
1. 1 [Option ID = 17541]
2. 2 [Option ID = 17542]
3. 3 [Option ID = 17543]
4. 4 [Option ID = 17544]

9)
What is SCOPUS?

1. Software to prepare Ph.D thesis

2, Database containing abstracis and citations of academic journals
3. Agency to fund research and development

4, Plagiarism checking software

THI9H (SCOPUS) T &8 7

1. 93 T 9Y 99X ®e @1 Qideaiy

2, SeTeY forgd Fige ufieiel & 9K Td Sev el &
3, INY 3R @y & foqume & fog sy

4, Fiel® aR] ) o9 ® ael Giieai

[Question ID = 4387][Question Description = 114_81_GP6_SEP22_S2_Q14]
1. 1 [Option ID = 17545]
2. 2 [Option ID = 17546]
3. 3 [Option ID = 17547]
4. 4 [Option ID = 17548]

10)
The Social Science research which is data-based, has been asscociated with

1. Autheritarian made
2, Positivist philosophy
3, Network theory
4 Phenomenology



gg gHIee o 91y, S iesl-Yid sl g, Ruiad 48 & -

1. G OEid
2. UT&aE] 53
3, Jead g

4, T2gUeH] oy

[Question ID = 4388][Question Description = 115_81_GP6_SEP22_S2_Q15]
1 [Option ID = 17549]
2 [Option ID = 17550]
3 [Option ID = 17551]
4 [Option ID = 17552]

A w N =

11)
The modern-communication revolution is propelled by

1. Cold war propaganda

2, International commerce

3, Techniological convergence
4, Change in palitical systems

YA Ty i s g1 JaRa g 2

1, 2 9= @1 wideret

2, RIPE qifvred

3, g SR

4, Treifam wunel § 9iiady

[Question ID = 4389][Question Description = 116_81_GP6_SEP22_S2_Q16]
1 [Option ID = 17553]
2 [Option ID = 17554]
3 [Option ID = 17555]
4 [Option ID = 17556]

A w N =

12)
Effective classroom communication will enable

A, Efficient teaching

B. Interest in learning

C. Minimal assessment

D. Interaction between teachers and students

E, Teacher-centric behaviour

Choose the correct answer from the options given below:

1.4 Band C only
2.B,C, DandE only
3.C, Dand Eonly
4, A BandDonly



A H UHTE] TR [HEE HEH B ;
A, YT ST

8. Urg- H 3l

C. 3feqdd Hedia

D. TRrarnt <R faenivhal & di 2=g1=g f9eam
E. HLI®- Higd S9a8R

e fou e fawed! 7 4 W1 S T ;

1.FAAA, B AR C
2.9 E,C, DIARE
3,WIAC, D ARE
4,FIAA, B AR D

[Question ID = 4390][Question Description = 117_81_GP6_SEP22_S2_Q17]
1. 1 [Option ID = 17557]
2. 2 [Option ID = 17558]
3. 3 [Option ID = 17559]
4. 4 [Option ID = 17560]

13)
Which of the fallowing are barriers to understand the communicated messages?

A. Emotional guotient

B. Jargon

C. Persanal space

D. Pre-judgemient

E. Cultural background

Choose the correct answer from the options given below;

A, Band Conly
.B, D and E only
.C, D and E anly
.B, Cand D only

S % 5 I L W



FrEd H ¥ B 4 TRiha a3l o §HgH H SRIYD § 7
A, TagTere -l

B. 3IE

C. gD W

D. ga-oig

E. Wieplci gE3{H

74 T4 7 f9eped] 5 & Wel STR 4 ;

1.FAAA, B AR C
2, #GE B, DIANE
3,WaAC, D ARE
4, FFAB, C AR D

[Question ID = 4391][Question Description = 118_81_GP6_SEP22_S2_Q18]
1. 1 [Option ID = 17561]
2. 2 [Option ID = 17562]
3. 3 [Option ID = 17563]
4. 4 [Option ID = 17564]

14)
Given below are two statements

Statement I: Knowledge is a form of cultural capital for all practical purposes,
Statement II: Communication media make cultural capital a form of illimitable property.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement |l are correct

2, Both Statement | and Statemenit |l are incorrect
3, Statement | is correct but Statement || is incorrect
4 Statement | is incorrect but Statement |l is correct

e RUTEE:

Y - | §F9 o sraeTie UaieH| & O Oisia® gol &1 U 9 8l

Y - || : TN HSy, YEeiam el ] U6 WeR $1 it grdid 5 8
UL HYH| & ATID | e 9ol H ¥ Hel 3w g

1. 0YF | 3R || BF TR B
2. FYA | 3R 1 EF TEd B |
3. P | W) &, g @y I Taa Bl
4, YT 1 T4 & , fooq ®YA 1| GEl B

[Question ID = 4392][Question Description = 119_81_GP6_SEP22_S2_Q19]
1. 1 [Option ID = 17565]
2. 2 [Option ID = 17566]
3. 3 [Option ID = 17567]
4. 4 [Option ID = 17568]



15)
Match List | with List Il

List |

List I

Concept of presentation

Characteristic

A, Text

|. Order of signification

B. Discourse

Il, Subjective invention

C. Connctation

Ill. Micro data

D. Myth

IV. Macro exchange

Choose the carrect answer frem the options given below:

TA-LB-1LC= LD~V
ZA-ILB=lLC=-IV, B~
SA-ILB-MC-LD-1
4A-NB-LC-1L,B=N

! -1 I T -1 H AT BT

EE

BESRIEE g R EHIE)

A, TS I. AR@IB 0l BT B
B, st 11, STH-TE I

C. oY I1l. BIShI-SeT

D. fHy® V. S8 3MaH-HarH
A feu e faed! # ¥ W8l ST g

TA-LB-1L,E=l, D-IV
2ZA-1LBANC- IV, B=
LA-NLB=-IMC-L B=1
4A8-WEB-LC-IL D=l

[Question ID = 4393][Question Description = 120_81_GP6_SEP22_S2_Q20]

1. 1 [Option ID = 17569]
2. 2 [Option ID = 17570]
3. 3 [Option ID = 17571]
4. 4 [Option ID = 17572]




16)
Choose the set of numbers, similar to the set (31, 19, 41) out of the following:

A, (27, 29, 47)
B.[23; 34, 45)
C. (29, 16, 41)
D. (29, 17, 37)
E, (23, 37, 49)
Choose the correct answer from the options given below:;

1.4, Cand E only
2.A and B only
3,B and D only
4, D only

Fafciad vyl 4 O Wy (31,19.41) & §9H Y13 & §9=Y @) gH¢ -
A. (27, 29, 47)

B. (23, 34, 49)
C. (29, 16, 47)
D. (29, 17,37)
E. (23, 37, 49)
I fou ¢ fased & 4 W) SR g

1.Faa A CHRE
2, FaAA ANB
3, FAA B ARD
4,FFAD

[Question ID = 4394][Question Description = 121_81_GP6_SEP22_S2_Q21]
1. 1 [Option ID = 17573]
2. 2 [Option ID = 17574]
3. 3 [Option ID = 17575]
4. 4 [Option ID = 17576]



17)
Uniscramble the strings below to treate a meaningful word and then find the odd one out:

A, EIWNTR

B. UMRSME

C. PIGRSN

D. LCUQD

Choose the correct answer from the options given below:;

1. A only
2.B only
3. C only
4, D only

T f5u 710 47 @1 56 USR e fa el e 84 aul aguRid 1999 @ gé -
A EIWNTR

B. UMRSME

C, PIGRSN

0. LCUOD

e fu e fowed! 9 4 W S T ;

1. Fad A
2, FadE
3,HaA C
4, FaA D

[Question ID = 4395][Question Description = 122_81_GP6_SEP22_S2_Q22]
1. 1 [Option ID = 17577]
2. 2 [Option ID = 17578]
3. 3 [Option ID = 17579]
4. 4 [Option ID = 17580]

18)
What shall be the value when 0.07 is divided by 3507

1..0.0002
2,0.002
3.0.02
4,0.00002

W4 0,07 @ 350 ° YT fohar Sa i &91 5 Ui g 7

1..0.0002
2.0.002
3.0.02
4,0.00002



[Question ID = 4396][Question Description = 123_81_GP6_SEP22_S2_Q23]
1. 1 [Option ID = 17581]
2. 2 [Option ID = 17582]
3. 3 [Option ID = 17583]
4. 4[Option ID = 17584]

19)
Six persons wernt to a hotel for a dinner, Five of them spent Rs 150 each on their meals, while the sixth

person spent Rs 80 more than the average expenditure of all the six persons. What is the total money

spent by all the six persons?

1.9%06
2,959
3.1000
4,7001

BE @ U HieH & [T glew § oid &) S99 Ui ofgadl § 9§ UG 309 Hied WX 1150 T4 5l B
Tl Sol diad 941 9 diaaal & 9 9 9 380 9 94 o3l 8| 94 98 il grl & foa
Y U Ed &1 7S 7

1.3996
2.3999
3.% 1000
4.3 1001

[Question ID = 4397][Question Description = 124_81_GP6_SEP22_S2_Q24]

1. 1 [Option ID = 17585]
2. 2 [Option ID = 17586]
3. 3 [Option ID = 17587]
4. 4 [Option ID = 17588]

20)
The selling price of 30 fans is egual to the purchase price of 25 fans. What is the profit or loss in

percentage?

1. A gain of 1,5%%
2.4 loss of 15%
3. A loss of 152%

4. No gain, no loss

30 Ul 1 faeh] Hed 25 UGl o W16 Hed o &X0ak o | i Sl gl wiowe o fsa-l & 2

1. 162%31'3-[

2.15% % &
2

3. 163% gl

A AR Y

[Question ID = 4398][Question Description = 125_81_GP6_SEP22_S2_Q25]
1. 1 [Option ID = 17589]
2. 2 [Option ID = 17590]
3. 3 [Option ID = 17591]
4. 4 [Option ID = 17592]



20 In Classical Square of Opposition, if 'Some S is P’ is given as true then which of the following could be
immediately inferred from it?
A, 'Some S is not P’ is false
B. 'Some S is not P is:true
C.'No Sis P'is false
D. “All SisP' is'undetermined
E. 'Some S is not P'is undetermined

Choose the correct answer from the options given below,

1.4 Cand D only
2,C, Dand E only
3.B, Cand D only
4 B and Conly

R & g a T S T8 S, P el &, ® dfe Te) aF T el Ol 9 H ¥ fEae! uas w9 1 gEd
g s gwa g ?

A BES PR e, Tad 8

B. WSS Pel 6, 9H &

C.®Ig S, PRI &, TTod &

D. s, P, feifa s

E B S, PAEl 8, UG 8

i g e faded! 5 & 981 9ok 4 -

1.®adA, CHRD
2. &40 C, D ARE
3, TIAE, C AR D
4 FIAR ARC

[Question ID = 4399][Question Description = 126_81_GP6_SEP22_S2_Q26]
1. 1 [Option ID = 17593]
2. 2 [Option ID = 17594]
3. 3 [Option ID = 17595]
4. 4 [Option ID = 17596]



22)
A fallacy in which the conelusion is stated or assumed within ene of the premises is known severally as:

A, Petitio Principil

B. Irrelevant Conclusion

C. Begging the Question

D. Fallacy of Compeosition

E, Circular argument

Choose the correct answer from the options given below:;

1.4, D and E anly
2.Cand Donly

3,B, Cand Eonly
4 A CandEonly

@3 av oy (ool (5aY @] U YR 999 & ¥4 & Adifq @iied oa) 7 & ud 9F 741 8 39
faftrs vl © F g I &

A, fafeRRm i

B, HUTHT® ey
C. AT TN

D. T B G6-21
E, gd G

1.3aAA, D IARE
2, HFAC IRD

3, &ad B, CARE
4, FAA CHRE

[Question ID = 4400][Question Description = 127_81_GP6_SEP22_S2_Q27]
1. 1 [Option ID = 17597]
2. 2 [Option ID = 17598]
3. 3 [Option ID = 17599]
4. 4 [Option ID = 17600]

23)
Analogical Arguments are:

1. Deductive in nature

2, Inductive in nature

3. Valid arguments but fallacious
4 Invalid arguments



TS O §

1. FTHEE 9dia Tl
2. FTHS Ui o0t
3. 3% g TI9gad ad
4, 39y db

[Question ID = 4401][Question Description = 128_81_GP6_SEP22_S2_Q28]
1. 1 [Option ID = 17601]
2. 2 [Option ID = 17602]
3. 3 [Option ID = 17603]
4. 4 [Option ID = 17604]

24)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: According to Classical Indian School of Logic (Nyaya), it is desirable but net necessary to
offer an example in a syllegistic argument or inference.

Reason R: Example shows that there is at least one existent object or case in the world in which the
middle and major terms co-exist.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2, Bath A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4, A is not correct but R is correct

Fac oY U T UF & 3ifHYH (4) IR T &1 7@ (R) T T &

HYHY (A) : ARG HRA 1 Hd @ YR [BEl A41g Giag SUdl S9HH @1 3aed 6] dig-1d &,
IELEECIUEC]

@RU (R) ; 3G6Y U SNl ¢ (@ ®H 4 ®9 U9 diamdd a5 41 gaie s Ji9g & o 7a ug
3N 7E g Te-faemE B

Sudad ByEl & e § FRifed fAed # 4 @l awm g

1. (A) AR (R) T WE1 & 3R (R), (A) B el odEA o

2. (A) 3R (R) QT eI & TR (R), (A) I We! oIRe 78 &
3, (A) WBI € TR (R) WET 981 &

4, (A) W6l 981 & IR (R) WRI 81

[Question ID = 4402][Question Description = 129_81_GP6_SEP22_S2_Q29]
1. 1 [Option ID = 17605]
2. 2 [Option ID = 17606]
3. 3 [Option ID = 17607]
4. 4 [Option ID = 17608]



25)

An American is told by his friend that Asian buffalo is like bison in such and such respects. When the
American visits Asia and comes across a buffalo, he comes 1o know that the animal seen by him is buffale.

Which of the following means of knewledge (pramana) is used in this instance?

1. Postulation (Arthapatti)
2, Comparison (Upamana)
3. Perception (Pratyaksa)

4, Verbal Testimany (Sabda)

UE P B 39m 194 g ad] 7] [ Ue CRIEE 99 39 3% 37 95Ul § 91594 (BISON) &) o8 gl
21 99 39 JEfT 3§ U @ uE @1 SR 96 99 & 9RE 1 o 99 4 Ual 9al ik 9 forg wii @1
%), g Hg t| Fefoiag 3 € 59 3 91 (0E) B 550910 996 a1 39 994 fhar T ?

1. Jufgel
2. 394
3, Uegdf
4, ety

[Question ID = 4403][Question Description = 130_81_GP6_SEP22_S2_Q30]
1. 1 [Option ID = 17609]
2. 2 [Option ID = 17610]
3. 3 [Option ID = 17611]
4. 4 [Option ID = 17612]

26)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Static RAM is typically used for PC's main memaory while Dynamic RAM is used for CPU

cache.
Reason R: Static RAM is faster and more expensive than Dynamic:RAM.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the carrect explanation of A
3, A'is true but R is false

4, Ais false but R is true

i al @yH [GUTE 8 : U @ <@y (A) 3R G- @I DRI (R) Hel I gl

AP (4) ; ®ies 1 & fafte w9 € 9 6 & &1 37 899 & fou fem o @ wefe st
pa=ie: |1 Q20 G AR st D B BT A

TRO (R) : LD I "SEANE 0 B goml J P oo R Teri il g1
e DY P AP d FEfed faeed H U TE SR 9

1. (A) 3R (R) TFT 9 & R (R), (A) 1 961 AT 81

2. (A) 3R (R) GH ¥ € T3 (R), (A) BT Hel el 81 &
3.(A) 9 & U3 (R) A B

4, (A) 3 & 0= (R) T B

[Question ID = 4404][Question Description = 131_81_GP6_SEP22_S2_Q31]



1 [Option ID = 17613]
2 [Option ID = 17614]
3 [Option ID = 17615]
4 [Option ID = 17616]

A W N =

27)
With respect to the Computers, what is the purpose of compressing a data file?

1. To encrypt the data

2. Ta occupy lessstorage space

3, To increase transmission time over a network

4, To allow the file to be read by a variety of applications

T & UG H U SIe1 I3l @] HEIY @3- o] 7 3530 51 § 7
1. STeT @I URPE & & e
LFIRRE U G
3, U9 -ica® OL 2IgHIgH eag § 9 @ & fo
4, T% 15T @] 114 SIWENT G U6 5 & (08 AT ol

[Question ID = 4405][Question Description = 132_81_GP6_SEP22_S2_Q32]
1. 1 [Option ID = 17617]
2. 2 [Option ID = 17618]
3. 3 [Option ID = 17619]
4. 4 [Option ID = 17620]

28)
Which of the following peripheral devices are considered as only input devices?

A, Microphane

B. Projector

C. loy Stick

D. Scanner

E, Track-ball

Choose the correct answer from the options given below;

1.4, C DandE only
2 A B DandE only
3,B,C, Dand E only
4 A B CandDonly



FTeTE TR [SaEds H € 6% oan 399¢ [Sasey JH ol 6 7
A ARHHBH

B. HISieey

C.9ig e

D. &P

£ emam

74 T4 7 f9eped] 5 & Wel STR 4 ;

1.®aAA, C, DARE
2. 999 A, B, DARE
3,%aAE, C,DARE
4, FIAA, B, C IR D

[Question ID = 4406][Question Description = 133_81_GP6_SEP22_S2_Q33]
1. 1 [Option ID = 17621]
2. 2 [Option ID = 17622]
3. 3 [Option ID = 17623]
4. 4 [Option ID = 17624]

29)
A Company's word-processed daily repert contains a graph from a spreadsheet. The report needs to

display the maost recent information from the spreadsheet, What feature should be used to insert the
most up-to-date graph?

1. Copy and paste

2, Mail merge wizard

3. Automated importing
4 Linking and embedding

forell Hot @] gs-U1a%s Shh® FUid § Ssdiie & Ue 715 e el | RO H dissie § ofgad @3
@ 16T ST HIG%E® gid] 8| 3RIG- WP @] JAdiaP B & (U (oG 1[0 (WBTaw) B SULRT (a1 w1 dliet

1. B AR U
2. 5O fdws
4, faifep oim wafem

[Question ID = 4407][Question Description = 134_81_GP6_SEP22_S2_Q34]
1. 1 [Option ID = 17625]
2. 2 [Option ID = 17626]
3. 3 [Option ID = 17627]
4. 4 [Option ID = 17628]



30)
Which type of virus or destructive software could appear t¢ be useful, but will actually cause damage

once installed ar run by a user?

1. Hoax

2, Worm

3. Trojan Horse
4, System Sector

54! vhiea @] 50 TSR @ a0y SEl Skoided UItedaR SUanl Hoid aidl &, e U@ 91X Siedas
S @ & alG SYal 94 gl R 91d H 394 49 sl 6

1. B1e (HOAX)

2. 91H (WORM)

3. 2184 81 (TROJAN HORSE)

4, 7% §aed  SYSTEM SECTOR)

[Question ID = 4408][Question Description = 135_81_GP6_SEP22_S2_Q35]
1. 1 [Option ID = 17629]
2. 2 [Option ID = 17630]
3. 3 [Option ID = 17631]
4. 4[Option ID = 17632]

31)
According to Neise Pollution (Regulation and Centrol) Rules in India, noise (Lsg) in educational institutions

during night time (10pm-6am) must not excesd

1.35 dB
2.40dB
3.45dB
4, 50dB

HRa H @ gguu (fafHes wd Hgam) Fgaed & sgar, 6E sl # U9 10 99 g 4 6 99 i
% @1 AGid H GH (L.,) BT SR FEiced 9 e T8 sH9rey

1.35dB
2,40 dB
3,45 dB
4, 50dB

[Question ID = 4409][Question Description = 136_81_GP6_SEP22_S2_Q36]
1. 1 [Option ID = 17633]
2. 2 [Option ID = 17634]
3. 3 [Option ID = 17635]
4. 4 [Option ID = 17636]

32)
The percentage increase in carbon dioxide concentration in atmosphere from pre-industrial

times is approximately

1.55 %
2.50%
3,74 %
4,62 %



N B1a © Yed O aay | Bla- sasiadies Gigdl | Giowid ais T g :

1.55%
2,50%
3, 74%
4,.62%

[Question ID = 4410][Question Description = 137_81_GP6_SEP22_S2_Q37]
1 [Option ID = 17637]
2 [Option ID = 17638]
3 [Option ID = 17639]
4 [Option ID = 17640]

AN w N =

33)
The highest nonzero dose at which ne toxic effect is observed in a study on animals is called

LDsg

. NOAEL
. LOAEL
. NOEFF

S 0 T W

Hfman R I om0 | o o [ue guE 9Fal ) 3EET | Fel o l ol 8, FgkRad
Hel Il & :

1.LDsp

2, NOAEL
3. LOAEL
4 NOEFF

[Question ID = 4411][Question Description = 138_81_GP6_SEP22_S2_Q38]
1. 1 [Option ID = 17641]
2. 2 [Option ID = 17642]
3. 3 [Option ID = 17643]
4. 4[Option ID = 17644]

34)
Given below are two statements, one is labelled as Assertion A and the other is labelled a5 Reason R

Assertion A: Hybrid Electric Vehicles' (HEVs) fuel running cost is lesser than Electric:Vehicles (EVs],

Reason R: Hybrid Eleciric Vehicles have beth an intemal combustion engine and an enboard electric

power generation system.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A'is correct but R is not correct

4, A is not correct but R is correct



o Ty GUIN S U o) AT (4) R T © ORI (R) T T B
AU (A) : TTISS FONGLP ATBH1 (HEVS) BT S8 T1a TN Seilae® a1ed (EVs) § P &1
ﬁ (R) : TETES Fafee® g ¥ 3iaft® ged 39 IR 6 913 gafded fggd Ides uone aFf
|
Iulad DYH| & HTI® 5 FHidd e 3 § T8l S g ;
1. (A) 3R (R) GFT 981 & 3R (R), (A) F 9l AmE 81
2. (A) 3R (R) THT W81 § T3 (R), (A) B el oI1e T8l &1

3. (A) HEl € TR (R) eI 78I B
4 (A) W18 B UG (R) HRI B

[Question ID = 4412][Question Description = 139_81_GP6_SEP22_S2_Q39]
1. 1 [Option ID = 17645]
2. 2 [Option ID = 17646]
3. 3 [Option ID = 17647]
4. 4 [Option ID = 17648]

) What is the correct chronological order of sequence from clder to newer of the following agreement,
summit and protocaols?
A, Paris Agreement
B. Mentreal Protocol
C. Kyoto Protocol
D. Rio Summit

Chowose the correct answer from the options given below

1.A,BCD
2B DCA
3.ACDE
48 C DA

HiaRey orgihan, Rre gy W@ sl & OTH 4 0 SaHd § el o0 Hl 6 7
AT Fagha

8, Alleas Hieidia

C. eI Heldla

D. feai Rrew wie

7 74U T fadbed] 5 & Wel S7R 4 ;

1.ABCD
2B DCA
3.ACDEB
4B, CDA

[Question ID = 4413][Question Description = 140_81_GP6_SEP22_S2_Q40]
1. 1 [Option ID = 17649]



2. 2 [Option ID = 17650]
3. 3 [Option ID = 17651]
4. 4 [Option ID = 17652]

36)
Which of the following universities is an Institute of Eminence?

1. Central University of Gujrat. Gandhinagar
2, University of Hyderabad

3. Tezpur University

4, Jamia Millia Islamia

fgfarad aufaaed 8 € oF 9 aeas 99 § 7

1. TR S faufaee, TR
2. BEaTE [aefaerey

3, degR [agideeE

4, SITeE i sk

[Question ID = 4414][Question Description = 141_81_GP6_SEP22_S2_Q41]
1. 1 [Option ID = 17653]
2. 2 [Option ID = 17654]
3. 3 [Option ID = 17655]
4. 4 [Option ID = 17656]

37)
Given below are two statements

Statement I: With Academic Bank of Credit facility in place, a student will be able to customize and
design own degree, provided 50% of credit are from the higher education institutions awarding the

degree.

Statement |I: Credits once used or redeemed by a student cannot be used for any other formal purpose

Or course wavers.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement |l are correct

2, Both Statement | and Statemenit |l are incorrect

3, Statement | is correct but Statement || is incorrect
4 Statement | is incorrect but Statement |l is correct



TY - | HBelS g5 b Bige YAy ar EH T TN, BF G- 5 B TEeaed §9H au] [SEed
T H W& B a9 50% $ioe, (57 & ard gwa) (R4 Her &l

FYT - 1) : T3 gRT HIoe @B ITAN a3 T HYdT 34 R $¢ o & 916 96T Judn fed] 3 u=ie
J5%0 YT B4 O B & (08 el (pg] = Godl 6|

Iulad HYEl & AP 8 FRfiad e § ¥ 9ed 3uded 3R 9 -

1. BT | 3R || ST S §
2. BYF 1 3R || SET T B |
3. @Y 1 Hel &, [ 4 11 TTEd 8
4Ty | TTea &, g Y 1 9T &

[Question ID = 4415][Question Description = 142_81_GP6_SEP22_S2_Q42]
1. 1 [Option ID = 17657]
2. 2 [Option ID = 17658]
3. 3 [Option ID = 17659]
4. 4 [Option ID = 17660]

38)
In a State government university or Central University, recommendation of the Selection Committee for

the recruitment of the faculty is-approved by the

1. Academic Council

2, Executive Council

3, Finance Committee

4. Chancellor of University

U TR & [a4faered @1 s-a1y [asfaeed H, 4er & 4dl & fau 994 giHfd @ MeiRe & Wied
Fafatad g i a6 ;

1. 9if&® ulg

2, FEGR] UNEG

3. fag afafe

4, fayfaeoy & panfugfa

[Question ID = 4416][Question Description = 143_81_GP6_SEP22_S2_Q43]
1. 1 [Option ID = 17661]
2. 2 [Option ID = 17662]
3. 3 [Option ID = 17663]
4. 4 [Option ID = 17664]



39)
Environmental education encempasses the issues of

A, Resource Consumption

B. Environmental degradation

C. Biodiversity loss

D. Economic empowerment

E, Climate change and its impact

Choose the correct answer from the options given below:;

1.4, B, Cand Donly
2.A B CandEonly
3,B, C, D and E only
4 B and Eonly

gaieeolig e J Fefiad 9t wnidc e
A, TEIEE 4T

B, JHfaRuIy g

C. 5id fafgsar &1 g1

D. e Tfdga

£, Sierarg uftad Tl SOl 9ya
e fou e fased! 7 4 1 SW T ;

1.6aA A, B, C IR D
2, FaAA, B, CHRE
3. %99E, C, D IRE
4 FAAR ARE

[Question ID = 4417][Question Description = 144_81_GP6_SEP22_S2_Q44]
1. 1 [Option ID = 17665]
2. 2 [Option ID = 17666]
3. 3 [Option ID = 17667]
4. 4 [Option ID = 17668]



40)
Given below are two statements

Statement |: The recommendations of the Radhakrishnan Commission in 1949 resemble those of

Calcutta University Commission in 1917,

Statement Il: The recommendations of the Mudaliar Commission in 1953 resemble those of John
Sergent's pest-war Educational Development Plan in 1944,

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2, Both Statement | and Statement |l are incorrect
3, Statement | is correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct

@Y - | : 1949 H JUGEYUH A @I (BRI 1917 H Sowal [ayaeed Hhn of [gsiiEl & 922 g

@Y - 11 : 1953 F HGlerR A &1 Rwigl 1944 H S 90¢ & I§ 9¥id Qiee e gienr o
Rwfeeil & geg &

Suad YAl & e § FgeiEd Fedl § 1 9d W

1. 0YF | 3R || BF TR B
2. FYA | 3R 1 EF TEd B |
3. P | el o, [ @9 11 TTEd 81
4, YT 1 T4 & , fobq YA 1| G818

[Question ID = 4418][Question Description = 145_81_GP6_SEP22_S2_Q45]
1. 1 [Option ID = 17669]
2. 2 [Option ID = 17670]
3. 3 [Option ID = 17671]
4. 4 [Option ID = 17672]

Topic:- 22 GP_29SEPT22_SH1_52_C



1)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from a-single relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are paossible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic viclence (Hobbes) or in pacific ignorance of one another {Rousseau), is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emotional faculties needed
to promote social cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodal cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The shared biological nature of humans influences

1. The division of sodial constructs

2. The nature of institutions in seciety
3. The political behaviour of people
4, The formation of social groups
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2. 2 [Option ID = 17674]
3. 3 [Option ID = 17675]
4. 4 [Option ID = 17676]




2)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

Human beings did not exist in a pre-social state due to

1. Social kinsfolk

2, Human pelitics across cultures:

3. Institutional limitations

4, Absence of individual independence
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1. 1 [Option ID = 17677]
2. 2 [Option ID = 17678]
3. 3 [Option ID = 17679]
4. 4 [Option ID = 17680]



3)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

From the author's point of view, the main characteristic of human society has been

1. Anarchic violence

2. Pacific ignorance of ane another
3. Kinship based sedial groups

4. Calculated individual relations
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[Question ID = 4421][Question Description = 148_81_GP6_SEP22_S2_Q48]
1. 1 [Option ID = 17681]
2. 2 [Option ID = 17682]
3. 3 [Option ID = 17683]
4. 4 [Option ID = 17684]




4)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The concept of social cooperation involves
A Kin selection

B. Cognitive faculty

C. Emotional detachment

D. Reciprocal altruism

Choose the correct option:

1.4 and B only
2.B and Conly
3.Cand D only
4.4 and D only
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1. 1 [Option ID = 17685]
2. 2 [Option ID = 17686]
3. 3 [Option ID = 17687]
4. 4 [Option ID = 17688]



5)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The passage recognises-the fact that human sociability has

1. Pelitical determinants

2. Rational cheice model

3. Integrated cellective action
4. Genetic linkage
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